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R2=0.784, NSE=0.74, CV_sim=0.328, CV_obs=0.51

● good marginal snow cloud iter1 iter2
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R2=0.785, NSE=0.776, CV_sim=0.353, CV_obs=0.508

● good marginal snow cloud iter1 iter2
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R2=0.785, NSE=0.776, CV_sim=0.353, CV_obs=0.508

● good marginal snow cloud iter1 iter2
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R2=0.767, NSE=0.784, CV_sim=0.371, CV_obs=0.508

● good marginal snow cloud iter1 iter2
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R2=0.822, NSE=0.799, CV_sim=0.36, CV_obs=0.508

● good marginal snow cloud iter1 iter2
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R2=0.818, NSE=0.773, CV_sim=0.352, CV_obs=0.51

● good marginal snow cloud iter1 iter2 iter3
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R2=0.818, NSE=0.773, CV_sim=0.352, CV_obs=0.51

● good marginal snow cloud iter1 iter2 iter3
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R2=0.793, NSE=0.79, CV_sim=0.365, CV_obs=0.51

● good marginal snow cloud iter1 iter2 iter3
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R2=0.818, NSE=0.773, CV_sim=0.352, CV_obs=0.51

● good marginal snow cloud iter1 iter2 iter3
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v−curve, lambda = 11.22


